
The page (T43 - SLIGHT - subpage 15) gives the timings of the 3 abort gap samples as 
well as showing the values. The samples T:AGIGI1, T:AGIGI2, T:AGIGI3 are taken in 
abort gaps 1, 2 and 3 respectively. The integration gate starts at the bucket no. given 
modulo 1113 - thus the  gate for sample T:AGIGI2 starts at bucket no. 1729 - 1113 = 616 
and the sample for abort gap 3 starts at bucket 1035. (See the diagram below) 
 

 
Bucket No.s for first and last buckets 
of each train and first and last buckets 
of each abort gap.  

1 372 232 603 743 974 1 
bunches   gap 1 bunches  gap 3 gap 2bunches  
 13 - 24  25 - 36  1 - 12 

1113 975 604 371 233 742 

Bucket No.s for first and last buckets 
of each abort gap integration period (70 buckets)
T:AGIGI1 =   267  - 336    (center of gap 1) 
T:AGIGI2 =   616  - 685    (beginning of gap 2) 
T:AGIGI2 = 1035 - 1104   (end of gap 3) 

 
(S. Pordes 6/24/04 based on work of T. Meyer and R. Thurman-Keup) 


